integral 3x"3/x"+5
Please provide explanation

Answer:
If question is:
3x3
— + 5dx
Then solution:
3x3
— +5=—+5
X

So:

3x3 3 1
—4+5dx=f—+5dx =3j—dx+5f1dx
X X X
As it is known:

1
f;dx = Inx + const

[ 1dx = x + const

Thus:

3x3
F+5dx:3*lnx + 5% x + const

But is the question is (which is more likely, | suppose you missed the brackets):

3x3
fx‘* +5 dx

Using:
4x3dx = d(x*)
And
d(x* +5) =d(x*)
Get:

j 3x3 4 _3fd(x4+5)
x*+5 x—4 x*+5

As it is known:
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1
f;dx =lnx + const

3x3 3 .
fx4+5 dx=Zln(x +5) + const
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